





22 Front Shock Tower

21503 1:14 F/R Shock Towers & Wing Mounts 1
21522 1:14 Ball Studs Set
21546 1:14 Hardware Set 1

21522

22 Rear. Shock Tower.

21173 Body Clips 12
21503 1:14 F/R Shock Towers & Wing Mounts
21505 1:14 Steering, Battery, Esc Paris Set

21522 1:14 Ball Studs Sef
21545 14B/T Wing

21546 1:14 Hardware Set




s Front Arm

8691 M2.5x12mm SHCS 10
21502 1:14 F/R Arms & Spacers Pr.
21507 1:14 Rear Hubs, Caster Blocks & Inseris 1
21508 1:14 Steering Blocks & Wheel Hex Set 1 21523
21511 1:14 Hinge Pin Set 1
21512 1:14 Bearing Set 1
21516 1:14 Drive Pins Sef 1 21522 21546
21517 1:14 Universal Driveshafis 2 21517
21521 1:14 Fr & Rr Crush Tubes 4
21522 1:14 Ball Studs Set 1
21523 1:14 Caster Block Bushings 4 i 271522
21546 1:14 Hardware Set 1
25225 M3x3mm Sef Screw 10 21507 '
91738 M4 Serrated Nuts 6 @ 21507

21507 P 21512 /21512
¥ 0 21508
21502 / 21523 @
N e
® 21511 l ’
21546 ‘
21521
21516
21502
8691 ¢
/ 91738
21511
25225
22 Rear Arm
8691 M2.5x12mm SHCS 10

21502 1:14 F/R Arms & Spacers Pr.

21507 1:14 Rear Hubs, Caster Blocks & Inseris 1

21508 1:14 Steering Blocks & Wheel Hex Set 1 21518

21511 1:14 Hinge Pin Set 1 21522

21512 1:14 Bearing Set 1

21516 1:14 Drive Pins Set 1

21518 1:14 Rear Driveline Set 1

21521 1:14 Fr & Rr Crush Tubes 4 © 21508

21522 1:14 Ball Studs Set 1 21521

25225 M3x3mm Set Screw 10 21518 21507 21516

91738 M4 Serrated Nuis 6 \@

21512
2151 2
Q @ /z 1508
2 1507, ’ 91738
21511 I
21 502
21502

25225

/ 8691
Ksn




249

2 Front Bulkhead / Steering

21504

21501 1:14 Skid Plates & Arm Mountis
21546 1:14 Hardware Set 21501
21501
21501
21501
21546
21501 21501
' 21501
\ @,,501 2'546\ 1
21501 L 4 1 1
21546 {A21546
21501
21501 s
21546 &
1 4 21546
21546Z" 1
4670 M3x8mm Sef Screw 10
21500 1:14 Chassis 1
21504 1:14 Upper Plastics Set 1
21505 1:14 Steering, Battery, Esc Paris Sef 1
21546 1:14 Hardware Set 1
21546




22 Reedy Electronics sz Lubes & Adhesives / Decals / Misc.

302  AA Alkaline 1.5V (4) 1 1105 FT Green Slime Shock Lube 1
904 280-SL4 4500kV Sensorless Brushless Motor 1 1596 FT Locking Adhesive 1
27131 D115F Servo 1 1597 FT Tire Adhesive, medium 1
27202 123-S AC LiPo Compact Balance Charger 1 6588 Black Grease - 4cc 1
27330 Wolfpack HV LiPo 30C 2100mAh 7.6V Stick 1 6591 S.Diff Lube - 4cc 1
27331 wo’fpdtk LiPo 1600mAh 30C 7.4V w/ T-plug 1 6636 Silicone Grease - 4cc 1
29188 SC300-BL Brushless ESC 1 6727 Servo Tgpe 2
726 Reedy 2016 Sticker Set 1
3834 AE Blue Embossed Logo Sticker 2
3840 2016 Team Associated Decal Sheet 1
n 9787  FT Chassis Protective Sheet 1
sz Bodies
21541 14B Clear Body 1
21542 14B Painted Body 1
21543 14T Clear Body 1
21544 14T Painted Body 1
22 MyLaps Transponders
MLPIOR0O78 MylLaps Hybrid (2-wire) Transponder 1
MLPIOR120 MylLaps RC4 (3-wire) Transponder 1
MLP40OR222 MylLaps Transponder Holder 1

:: Apparel / Promotional LT R ——

TEE SHIRTS 1111 FT Turnbuckle Wrench 1

SP11* 2016 Worlds T-shirt, bluve, (S, M, L, XL-5XL) 1112 FT 4mm Turnbuckle Wrench 1
SP12* 2016 Worlds T-shirt, black, (S, M, L, XL-5XL) 1113 12mm Big Bore Shock Tool 1
SP113* AE Worlds Car Retro T-Shirt, (S, M, L, XL-3XL) 1114 FT Dual Turnbuckle Wrench 1
SP114* Circuit T-Shirt - Black (S, M, L, XL-3XL) 1449 Off Road Ride Height Gauge 1
SP120* AE 3/4 Sleeve Tee, Gray (S, M, L, XL-3XL) 1452 FT TC Ride Height Gauge 1
SP121* Kids AE Speed Tee, Black (S, M, L) 1498 FT Universal Tire Balancer 1
SP122* Ladies AE Speed Tee, Black (S, M, L, XL 1541  FT Hex Driver Set, (7 pcs) 1
SP123* Mens AE Speed Tee, Navy (S, M, L, XL-5XL) 1545 FT 5/64"” Blue Hex Driver 1
SP124* AE 2017 Worlds Tee, Black (S, M, L, XL-3XL) 1555 FT Cluich Gauge, 4 Shoe 1
SP140* Reedy Heritage Tee, Black (S, M, L, XL-5XL) 1568 FT 5.5mm Short Nut Driver 1
1569 FT 7Zmm Nut Driver, T-Handle 1
HOODIES/JACKETS 1570 FT 5.5mm Shori Nut Driver 1

SP13* AE Lite Jacket - Black - (S, M, L, XL, 2XL) 1571 FT 1:8 Wheel Nut Wrench, 17mm Hex 1
SP71* AE Winter Jacket - Black (S, M, L, XL, 2XL) 1579 FT Ball Cup Wrench 1
SP111* Reedy W15 Sweatshirt - Black (S, M, L, XL-3XL) 1590 FT 3/32”” Gold Ball Hex Driver 1
SP141* Reedy R Hoodie - Black (S, M, L, XL-3XL) 1592 FT Ball Hex Driver Set, (3 pcs) 1
1655 FT 8-Piece 1/4” Hex Drive Set 1

HATS 1656 FT 1/4” Hex Drive Handle, without tips 1
1

1

1

1

1

1

1

1

1

1

1

1

1

1

1

1

1

1

SP20 AE Paich Trucker Hat
SP406 2017 Reedy Power Hat, Black
SP407 2017 Team Associated Hat, Gray
SP408 AE Worlds Hat
SP421S AE 2012 Hat, Black, Flat Bill, S/M
SP421L AE 2012 Hati, Black, Flat Bill, L/XL
SP422S AE 2012 Hat, Black, Curved Bill, S/M
SP422L AE 2012 Hat, Black, Curved Bill, L/XL
SP423S AE 2012 Hai, White, Flat Bill, S/M
SP423L AE 2012 Hai, White, Flat Bill, L/XL
SP424S AE 2012 Hai, White, Curved Bill, S/M
SP424L AE 2012 Hai, White, Curved Bill, L/XL
SP430 Reedy Trucker Hat 2018

1657 FT 1/4” Hex Drive .050” Tip

1658 FT 1/4” Hex Drive 1/16” Tip

1659 FT 1/4” Hex Drive 5/64" - 2.0mm Tip

1660 FT 1/4” Hex Drive 3/32” Tip

1661 FT 1/4” Hex Drive 1.5mm Tip

1662 FT 1/4” Hex Drive 2.5mm Tip

1663 FT 1/4” Hex Drive 3/16” Nut Driver Tip
1664 FT 1/4” Hex Drive 1/4” Nut Driver Tip

1665 FT 1/4” Hex Drive 11/32” Nut Driver Tip
1666 FT 1/4” Hex Drive 5.5mm Nut Driver Tip
1667 FT 1/4” Hex Drive 7.0mm Nut Driver Tip
1668 FT 1/4” Hex Drive 8.0mm Nut Driver Tip
1669 FT 1/4” Hex Drive 5/64" - 2.0mm Ball End Tip
1670 FT 1/4” Hex Drive 3/32” Ball End Tip
BANNERS/MATS CARRIERS 1671 FT 1/4” Hex Drive Standard Screwdriver Tip

SP29  Team Associated Countertop/Setup Mat 1 1672  FT 1/4” Hex Drive Phillips Screwdriver Tip
SP30 Team Associated Pit Mat 1 1673 FT 1/4” Hex Drive 2.5mm Ball End Tip
SP31 Reedy Counterfop/Setup Mat 1 1674 FT 1/4” 5 Piece Power Tool Tips Set (5/64-2.0mm,
SP115 Reedy Circuit Cloth Banner 1 1.5mm, 2.5mm, 5/64"”- 2.0mm ball, 2.5mm ball)
SP425 FT Fluid Carrier 1 1675 FT Shock Shaft Pliers 1
SP426 Team Associated Countertop / Setup Mat 1 1679 FT T-Handle Ratchet Driver 1
SP427 Reedy Countertop / Setup Mat 1 1719 FT Camber + Track Width Tool 1
110684 Team Associated Track Banner 1 1737 FT Body Scissors 1
110685 Team Associated Cloth Banner 1 3718 12 Inch Nylon Wire Ties 12
110686 Reedy Circuit Cloth Banner 1 3719 6 Inch Nylon Wire Ties 12
3720 8 Inch Nylon Wire Ties 12
3987 FT Droop Gauge 1
7709 4 Inch Nylon Wire Ties 12

* Use part number plus the desired size when ordering!




AASSOCIATED,

WORLD CHAMPION R/C CARS

Associated Electrics, Inc.
26021 Commercentre Dr. Lake Forest, CA 92630 USA

call: (949) 544-7500 - fax: (949) 544-7501
Check out the following web sites for all of our kits,
current products, new releases, setup help, tips, and racing info!
www.TeamAssociated.com. - www.RC10.com

TeamAssociated @TeamAssociatedRC @Team_Associated AEFactoryTeam
ReedyPower @ReedyPower @ReedyPower




